Entry 2: Read and compare positive temperatures

. Fill in the gaps below.

The short form of writing 20 degree Celsius is ...........ccccceeuenens .
Water boils at ............. °C.
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Put the temperatures above in order, from the highest to the lowest.

Answer: .......ccceeennn. ) rerrerrereeeieees ) rerrerrereeeenens

. The fridge temperature should be 4°C or below. Anna’s fridge temperature is 6°C.
Is Anna’s fridge at the right temperature?

Anna says: ‘The difference between the temperature that the fridge has now and the
temperature it should have is 1°C.” Do you agree?



